HIENRFRT = 105/1/20 11:54:28

i /L

75':\” P A
ANEH:10501/21
[ BE 1R A5]3.95.66
[ [ER A F8 ] = e TH 1R BE I N AT
[ER AL ATH] 2 2 S kR

[M&RRHHE] 731 Zrd TR Bl (% B 129 5%

(ke NIHEEE TS

(4% BB EE]06-6872284 7314 608

[ E 5%E]06-6873445

2R ZE5%]10561002
LB EE A KRHEE & HE B TR g (2%
METAF)

[FAFE TN AR

[ 7 =] B (A

(BB RBUNRE AT TARIZ 64 > 2 Bisd) &

EippA=y =L [

[REMBERIEASE 106 555 1 15 1 oS

(BT BIL EIft AT RE] &

[RE B - HRE =~ B & BRI CT A L E S RS2 ATH )] &
(BB EERES

AT ) 55 75588 94 T 7K e AR B ~ e A R HAER (RAR S
[RERBMRAL TREEERFERAE RS &
[FRAZEREFRL1105/01/13 10:00

RAEBEA04/12/30 JRAS HE GG 1| THAEASEE I HIE
[EREE SAEREE] N\ S S5l BRI

(BB HEA WTO BUFEERIE(GPA)] &

(BB EAERKHEEIERHEANZTEC)] &
[BREHEAEE KBS ESTEP) &
[B&UHRE = R i R RHIE)
[BEUHRE(E ) Z /e — (R EE &

[REESRHIIFEE]S

FFEeTEER FEE e+ —IHitE

(AR FELL TR T EREET € 2 fHA

b5t yab=v IR

(A SR UA5]13.95.30



AR HERA T8 = m T BN R IR i =
[HESHEE A FHIE

[FEE£%H]2,935,000 7C

& 2R BN &

[REBHE]S

EEAEFHE1001

[ H H#H1105/01/20

RS HHA105/01/21

[BLEIRTR] 105 FERETE 10561002 5%
[REHZAE]E

[REEIEEEIE

[EESHEEAFHZ

[EEE £:%5]2,900,000 7T

(4R RES%H] 1,580,000 T

(A ESERER A

BB RERREASE 58 B E R EAESRR AR A &
AR BB Y ERERRESHE] S

[ AR R P 2R B4

[P s £ RAB1 72165698

(SRR s il IEfs AR T2

[REREE

(SRR HAE] 731 ZEF TR E EE 103 57
(SRR EEE]09- 32717707

[AFEL%E] 1,580,000 7T

(SRR R A - 52 S Bl (Republic of China (Taiwan))
[BE RH/INMEELE

[B&I#EZ HHA]105/01/30—105/12/31 (FEfH)

A TEE

[SRIE 21N E E AR B 8 B TR R R e e s T = (2
WETAF)
[REMUNEEKEMLTEREE S FELERMEE] &
(SR 1 ERs E AR T2

[FEM TS KB E]

[AIES%E] 1,580,000

JEEE £8512,900,000

[REHER] 119 K (Republic of China (Taiwan))
R EE MR RS HE 4 %E 111,580,000 7T
RS RS 5140722931



RS L] R E T

[EEEHIE

FE{E4:%H]2,437,000 7C

[RESERRIFEAN G EARAEE EMERE - REAERANSE &858
RSB RRE CIE128773054

RS R AR s 2 A TR A E

[REEK]ZE

[/ 4:%8]2,300,000 7T

[RSFERREIER « FISE NS E IR R ()2
RSB R 5122950790

RIS 2 G I EEA IR AE

[REEK]Z

[ £:%E]12,450,000 TT

RGEREIER « FISE NS E IR R ()
[B&ITT IR (A5]3.95.30

B4 TH R A48 = F T BUR D E IR 15 f)

[FHAOEREE]. AFRTEEE 0 - SEEERTHEUN 104 4 12 H 25 HE%E
i P

2. BOEHOIER 105 FETEEZER 104 4 12 A 31 HE g EaimsE - iy
HUAAE (455%/5 105.1.13 T8 EEEE 1050063111 57 prEE )



